' CEN 201 - CEN 202

1s

- Bead B has negligible Welght and slides without friction on rig dbar AC. An elastic cord
-~ -BD which suppo 15 2 60 N tensile force is attached to the bead. At the instant shown; the bead — - -
~ has zero velocity and is posmoned A and C such that AB =% AC. e
Determine the components of the co act parallel and perpendicular to direction
AC of the bar. Express the result as



3/9

1€ space. Spring CD has a stiffness k = 1.5 N/mm"

. § hed length
s no friction between the collar and the rod, determit
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n in z-x plane. The
oment of F about
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